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{(Even Semester)

ARCHITECTURAL STRUCTURES - HI

Time : Three Hours) [Maximum Marks : 50

Note := (1) Attemptall questions.

(i1) Use of calculator is allowed.

1. Fill in the blanks of the following : 10<1=10
(a) Cantileverbeamis fixedat................... end.
(b) Forces acting in trusses are loadedon ...............
only.

(¢) Graphical methods are used in analysis of

(d) Slenderness ratio of long column is more than
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(¢) Detlection is maximum at ,
cantileverbeam, =

() Shear stress measurement unit jg

(2)

(1) R gave theory for long columns,

(i) Middle third TUle 18 1OF ..cuvveriververcosses ;

() Ifm<2j-3,thetrussisknownas...........___

Define any three of the following : 15

(a) Shear stress and bending stress distribution
curve for a beam of circular cross-section.
(b) Types of columns.

(¢) Method of sections for truss analysis.
(d) Deflection in cantilever beam.

(e) Centre of parallel forces.

Answer any one part of the following - 5

(a) Find buckling load for a column with both ends
fixed and having 10 m length. The cross section
is circular with 800 mm diameter.



3

(b) Describe the procedure of d

of parallel forces.

4. Attempt any one part of the following : "

(a) Find the minimum and maximum stresses in the
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etermining centre

section
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20 cm

(b)

v

<+—40 kN/m*

'F
i 4 m

ot El Constant

Find deflection.
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5. Attempt any one part of the following : s
(a) FindCG:
6 mm
—t
¥
£
E
=
=
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. 100 mm

(b) Find shear stress distribution for hollow circular

section.
6. Attempt any one part of the following : 5
(a)
J2kN J 3kN
60° 60° 60° 60°
798
. 6m e 6m £

Find forces in all the members using method of

joints.
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(b) Elaborate method of joints and sections for

analysis of truss.

7. Attempt any one part of the following : 5

(a)

(b)

List all the end conditions of columns with

proper diagram and formulae.

Find slenderness ratio limit for mild steel.

Assume other details.
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